November 20, 2015

Mth-4111 In the figure below, points E, F, G, and H are the midpoints of the
sides on which they are located. Use analytical geometry to prove that
segments EF and GH are parallel.

4 axt
Hypothesis: {— %% ﬁq(p,q)
E and F are midpoints (0,n) pr ™ ab_..o)
G and H are midpoints 0_'::0 “;"_z° E G( RN :1\.:,
9
Conclusion to prove: =100 H (m0) 2
, D+™ o-m)
Segment EF is parallel to segment GH. (-’7_— y 2
(,°)
b
o Statements Justifications
Coordinades Midooint Foarmdlo:
of Midgoints - E - (0:%' E‘;“-l-%-._ \/‘-\-:(;_
€ : & g “L )
e[ F G o
ay (£ e ‘(?—' wi'%
en& %) H (526}
Sy .
m = ntgy _ o 4 Slope porn\)‘o. K
@ Er = .= f M=o~ h
P £
= o 2 XL—Xl
2 _ £
=z T 2
MEF: j/_ .?é. p— i
X P r
Mey = -%- -0
)
¥==-3
=%
£
=
S T o
2 X
. e LY
=< || §n St B slopo o
e« -\—\\L Some ,-\'\nq_ \(Nw

rost s Porallel.



	Page 1

